A £ 0l & AF & S

Al A

SA: DlcHE A
3 DAY 7o R =8
Eelr SHEDIT MEAF A (SH9 H2)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
OleHdefa 25,285,510 834,947 24,450,563
OlHE ALY F& & =8 541,533 601,533 60,000
fEOIT AEA AE 90,400 204,400 A 114,000
AIFAL A" JlE &4 90,400 204,400 A 114,000
201 ZB=EhI 83,600 158,600 70,000
01 AlR2telHl 88,600 158,600 70,000
AFEAL AE EBIEE A =8
33 80,000,0002 80,000 150,000 70,000
401 AIEHIZL 20| 0 44,000 44,000
01 Al&€HI 0 44,000 A44,000
HEEX Y2 XN HEZA 2
34 03 0 22,000 ~22,000
HERX ELEA S 38 0 0 22,000 22,000
AEAL A AEHR FE 44,900 0 44,900
AIFAL AY ALY S A A 44,900 0 44,900
203 AR =] 900 0 900
03 Al H 2| 900 0 900
AFEAL e AIZER 2 g2 =X
1,000, 000 *90% 900 0 900
401 AIEHIZL 20| 44,000 44,000
01 AlIZHI 44,000 44,000
HEEX Y2 H2XA B9
22,000,0002 *14] 22,000 0 22,000
HESA ZEL2EA SH
22,000,000 %14 22,000 0 22,000
URIPIX| SEAE =X 10,000 900 9,100
242 Edig 2E 24 10,000 900 9,100
201 et ] 10,000 10,000
01 AlR2telHl 10,000 10,000
Edie 2E 822 MH 10,000 0 10,000
203 R =2IY| 0 900 900
03 A=A H =AY 0 900 A900
SEAY 28 22 A 38 0 0 900 A900
Heas(0lehMta) 24,500,000 0 24,500,000
WEHeHXIE 24,500,000 0 24,500,000
ErSE=] 24,500,000 0 24,500,000
2 I128E2 24,500,000 0 24,500,000
01 JI138&E2 24,500,000 0 24,500,000
AHAAEIIS 24,500,000 0 24,500,000
A2 ZHI(0lhEA) 243,977 233,414 10,563
IR 2] 200,298 189,735 10,563
elA2EHI(8L) 200,298 189,735 10,563
101 el 200,298 189,735 10,563
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M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns

02 JIEH= 84 200,298 189,735 10,563

S|YST HIE(KILHEAII-LIIH) 75,818 70,633 5,185

S2(MEH) a3 61,789,000 61,789 56,827 4,962

- Al2tQIA I 6,500,000 6,500 6,342 158

- DS A ZH 1,169,000 1,169 1,104 65
HES ME - JAEA(XSH™ M-I

H) 61,470 59,371 2,09

S2(MEH) A 48,193,000 48,193 46,305 1,883

- AlI2tQI4 I 6,500,000 6,500 6,342 158

D2 A A 897,000 897 844 53

T L U NS EL(XILHAAMII-LIIH) 63,010 59,731 3,279

sS2(d=H) A 49,373,000 49,373 46,305 3,068

- A2tQIAE 33 6,500,000 6,500 6,342 158

oI AM| ZE 897,000 897 844 53




